By eBAEATZFFRATHB LS HAMR

#8:H¥#88=( 5% 301
£ /% Rz¥ / A

GRS — R T BN ERS R B RSB
B BEARA RS - SIS TS L
B 8 2 O R D B AR — (TR IR )
85— A |
(AR FEREFATOREE > HBHR2D 5 $L5ERLH - B B4

BERUENE ~THARAOLHBEHE o " BE¥ 1.3.4.68" )

LSBT T3IGE) - R3S D) - MESTEES =& 2 M0 Lt FRE R E 2 |
FERESRAEHE SIS B AL o ARACHIARTT L3 P S BB R B A 7 (25%)
2. AKIABRIVE R B R B E NI E EAR REE SR R TR T

HOZGEE TR R AE AL - M0E DA—awl @mBASR fB1 - BRAE LA REAR A

REETIOEEE > RHFRRR G R RSB TR R A AR ?
(25%)

3. (TEREBILER A ? R ITS LM RRES R RS HA T

T 2 (25%)

4 PEEMETSRESRAREELE BENGR ? MR Rl
HRBEEL - (25%) \.

5. As part of a promotional scheme in Taipei and Kaohsiung Metropolitan Area, a
company making cake mixes will award a grand prize of NT$ 500,000 (and several
other prizes) to persons sending in their names on entry blanks, with the option of also
including a box top of one of the company’s products. The breakdown of the 60,000
entries which they received is as shown in the following table:
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With Box Top Without Box
Top
Taipei 32,000 11,000
Kaoshiung 8,000 9,000
Total 40,000 20,000

If the winner of the grand award is chosen by lot, T represents the event that it will be
won by an entry from Taipei, and B represents the event that it will be won by an entry
which included a box top, please find each of the following probabilities:

(1), P(T) and P (B)

(2), P(T’nB’) and P (TNB)

(3), Please specify the conditional probability P (T/B) and P (B’/T’), interpret their
economic intuition respectively;'and verifythe result by using the data from the
previous table.

(4), Please discuss the Bayes’ Rule.o determine P(B/T) by employing the previous
results.
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5. As part of a _promotional scheme in Taipei and I_(aohsiun_F Metrogolitan Area, a

company making cake mixes will award a grand prize of NT$ 500,000 (and several

- other prizes) to persons sending in their names on entry blanks, with the option of also

*Including a box top of one of the comp.an%’s Produgts. The breakdown of the 60,000
entries which they received is as shown in the following table:

With Box Top Without Box
Top
Taipei 32,000 11,000
Kaoshiung 8,000 9,000
Total 40,000 20,000

If the winner of the grand award is chosen by, lot, T represents the event that it will be
won by an entry from Taipei;-and'B represents the event that it will be won by an entry
which included a box top, please find.each of the following probabilities:

(1), P(T)and P (B)

(2), P(T’nB’) and P (TB)

(3), Please specify the conditional probability P (T/B) and P (B’/T”), interpret their
economic intuition respectively, and verify the result by using the data from the
previous table.

(4), Please discuss the Bayes’ Rule to determine P (B/T) by employing the previous
results.
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5. As part of a promotional scheme in Taipei and Kaohsiun% Metropolitan Area, a
company making cake mixes will award a grand prize of NT$ 500,000 (and several
other prizes) to persons sending in their names on entry blanks, with the option of also
including a box top of one of the compan)tfl’s Froduqts. The breakdown of the 60,000
entries which they received is as shown in the following table:

With Box Top Without Box
Top
Taipei 32,000 11,000
Kaoshiun 8,000 9,000
Total 40,000 20,000

If the winner of the grand award is.chosen by lot, T.aepresents the event that it will be
won by an entry from Taipei, and B represents the event that it will be won by an entry
which included a box top, please find'each of the'following probabilities: (25%)

(1), P(T) and P (B)

(2), P(T’nB’) and P (TB)

(3), Please specify the conditional probability P (T/B) and P (B’/T’), interpret their
economic intuition respectively, and verify the result by using the data from the
previous table.

(4), Please discuss the Bayes’ Rule to determine P (B/T) by employing the previous
results.
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1. As part of a promotional scheme in Taipei and Kaohsiung Metropolitan Area, a
company making cake mixes will award a grand prize of NT$ 500,000 (and several
other prizes) to persons sending in their names on entry blanks, with the option of also
including a box top of one of the company’s products. The breakdown of the 60,000
entries which they received is as shown in the following table:

With Box Top Without Box
Top
Taipei 32,000 11,000
Kaoshiung 8,000 9,000
Total 40,000 20,000

If the winner of the grand award is chosen by lot, T represents the event that it will
be won by an entry from Taipei, and B represents the event that it will be won by an entry

(1),P(T)and P (B)

(2), P (T’AB’) and P (TNB)

(3), Please specify the conditional probability P (T/B) and P (B’/T"), interpret their
economic intuition respectively, and.verify the result by using the data from the

previous table.

(4), Please discuss the Bayes’ Rule to determine P (B/T) by employing the previous |

results.

following annual income and saving:

which included a box top, please find each-of the following probabilities:

2. Suppose that a random sample of 4 families in Taipei Metropolitan Area had the

Unit: Thousands of NT$

Family Income X Saving S
A 1,200 100
B 800 100
C 700 60
D 1,700 220

Please (2543)
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(1) Estimate the regression line S = o, + BX.

(2)Construct a 95% confidence interval for the slope B.

(3) Construct a 95% confidence interval for ct. '

(4) Interpret the economic intuition for the regression equation.

(5)Use a two-sided test to examine which of the following hypotheses will be reject
at the 5% level?-(i), B = 0; (ii),p = 0.05; (iii),B = 0.10; (iv), B = 0.50.
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(1) tragedy of the commons
(2) broken window theory
(3) ecological psychology
(4) unobtrusive measures
(5) field experiment
(6) information overload
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